

Board of County Commissioners Agenda Request

3B
Agenda Item #

Requested Meeting Date: 6-11-19

Title of Item:	Award Contract No. 20194
----------------	--------------------------

REGULAR AGENDA	Action Requested:	Direction Requested
CONSENT AGENDA	Approve/Deny Motion	Discussion Item
INFORMATION ONLY	Adopt Resolution (attach dr	raft) Hold Public Hearing* le copy of hearing notice that was published
Submitted by: John Welle		Department: Highway Department
Presenter (Name and Title): John Welle, Aitkin County Engineer		Estimated Time Needed: 10 minutes
submitting the low bid in the amount of low bid was 8.8% over the estimated c	Il/overlay of 4.1 miles of CSAH 3 from Il/overlay on 2.25 miles of CSAH 10 fill/overlay on 9.0 miles of CSAH 16 from Overlay on 1.1 mile of CR 70 from TH Ilder on 35 miles of CSAH 3, 4 and 10 pids, four bids received, with Anderso \$2,919,888.99. With the cost of this ost.	n CSAH 29 to US Hwy 169; from TH 200 to Itasca County line; om CSAH 13 to TH 210; H 65 to TH 65 in Jacobson;
Alternatives, Options, Effects or	others/Comments:	
Recommended Action/Motion: Approve resolution.		
Financial Impact: Is there a cost associated with this What is the total cost, with tax and Is this budgeted? Yes	en la construction	

CERTIFIED COPY OF RESOLUTION OF COUNTY BOARD OF AITKIN COUNTY, MINNESOTA

ADOPTED June 11, 2019

By Commissioner: XX

20190611-0xx

Award Contract No. 20194

WHEREAS, Contract No. 20194 is for construction of S.A.P. 001-603-019, S.A.P. 001-610-030, S.A.P. 001-616-007, C.P. 001-070-001, and C.P. 001-090-033, and

WHEREAS, sealed bids were opened for this project at 2:00 p.m. on Monday, June 3, 2019 with a total of four bids received, and

WHEREAS, Anderson Brothers Construction Company, Brainerd, MN was the lowest responsible bidder in the amount of \$2,919,888.99.

THEREFORE, BE IT RESOLVED, that Anderson Brothers Construction Company is awarded Contract No. 20194.

BE IT FURTHER RESOLVED, that the chairperson of the Aitkin County Board and the Aitkin County Administrator are hereby authorized and directed to enter into a contract on behalf of Aitkin County with said low bidder upon presentation of proper contract documents.

Commissioner xx moved for adoption of the resolution and it was declared adopted upon the following vote

FIVE MEMBERS PRESENT

All Members Voting Yes

STATE OF MINNESOTA) COUNTY OF AITKIN)

I, Jessica Seibert, County Administrator, Aitkin County, Minnesota do hereby certify that I have compared the foregoing with the original resolution filed in the Administration Office of Aitkin County in Aitkin, Minnesota as stated in the minutes of the proceedings of said Board on the 11th day of June, 2019 and that the same is a true and correct copy of the whole thereof.

Witness my hand and seal this 11th day of June, 2019

Jessica Seibert County Administrator

Aitkin County Contract Bid Abstract

Project Name:

CSAH 3, 10, 16 Bituminous Mill/Overlay & Striping; CR 70 Resurfacing; CSAH 3, 10, 4 Shouldering

Project No.:

SAP 001-603-019, SAP 001-610-030, SAP 001-616-007, CP 001-070-001, CP 001-090-033

Bid Opening:

6/3/2019 at 2:00 PM

Contract No.:

20194

ine No.	Project: CP 001-070-001 - Resurfacing CR 70			Engineers Estimate			others Construction Brainerd LLC- N			Central Specialities Inc- Alexandria, MN		Duininck, Inc Prinsburg, MN	
	ltem	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	2021.501 MOBILIZATION	LS	1	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$18,000.00	\$18,000.00	\$5,000.00	\$5,000.00	\$52,000.00	\$52,000.0
2	2051.501 MAINT & RESTORATION OF HAUL ROADS	LS	1	\$500.00	\$500.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.0
3	2104.503 REMOVE PIPE CULVERTS	L F	56	\$15.00	\$840.00	\$28.50	\$1,596.00	\$26.79	\$1,500.24	\$30.00	\$1,680.00	\$15.50	\$868.0
4	2104 504 REMOVE BITUMINOUS PAVEMENT	5 Y	49	\$3.00	\$147.00	\$19.00	\$931.00	\$10.00	\$490.00	\$25.00	\$1,225,00	\$20.00	\$980.0
5	2118.507 AGGREGATE SURFACING (LV), CLASS SPECIAL	CY	229	\$25.00	\$5,725.00	\$38.00	\$8,702.00	\$30.00	\$6,870.00	\$43.00	\$9,847.00	\$48.50	\$11,106.
6	2211.507 AGGREGATE BASE (LV) CLASS 5	CY	28	\$30.00	\$840.00	\$44.00	\$1,232.00	\$60.00	\$1,680.00	\$50.00	\$1,400.00	\$85.00	\$2,380.0
7	2232,504 MILL BITUMINOUS SURFACE (3.0")	SY	13949	\$2.00	\$27,898.00	\$1.90	\$26,503.10	\$2.70	\$37,662.30	\$2.30	\$32,082.70	\$3.00	\$41,847.0
8	2357,506 BITUMINOUS MATERIAL FOR TACK COAT	GAL	2091	\$2.00	\$4,182.00	\$2.85	\$5,959.35	\$2.00	\$4,182.00	\$2.00	\$4,182.00	\$2.25	\$4,704.7
9	2360.509 TYPE SP 9.5 WEARING COURSE MIX (2,B)	TON	2342	\$50.00	\$117,100.00	\$57.00	\$133,494.00	\$54.00	\$126,468.00	\$65.00	\$152,230.00	\$60.70	\$142,159.4
10	2411.507 STRUCTURE EXCAVATION CLASS U	CY	105	\$12.00	\$1,260.00	\$50.00	\$5,250.00	\$10.00	\$1,050.00	\$8.00	\$840.00	\$15.00	\$1,575.0
11	2501.502 48" RC PIPE APRON	EACH	2	\$3,000.00	\$6,000.00	\$3,100.00	\$6,200.00	\$2,500.00	\$5,000.00	\$2,280.00	\$4,560.00	\$2,600.00	\$5,200.0
12	2501,503 48" RC PIPE CULVERT DES 3006 CL III	LF	40	\$250.00	\$10,000.00	\$320.00	\$12,800.00	\$280.00	\$11,200.00	\$285.00	\$11,400.00	\$275.00	\$11,000.0
13	2540.602 MAIL BOX SUPPORT	EACH	7	\$110.00	\$770.00	\$110.00	\$770.00	\$110.00	\$770.00	\$105.00	\$735.00	\$110.00	\$770.
14	2563.601 TRAFFIC CONTROL	LS	1	\$5,000.00	\$5,000.00	\$2,850.00	\$2,850.00	\$4,000.00	\$4,000.00	\$1,800.00	\$1,800.00	\$1,800.00	\$1,800.
15	2575.501 TURF ESTABLISHMENT	LS	1	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.0
16	2580,503 INTERIM PAVEMENT MARKING	LF	26769	\$0,25	\$6,692.25	\$0.17	\$4,550.73	\$0.50	\$13,384.50	\$0.16	\$4,283.04	\$0.16	\$4,283.0
17	2582.503 4" SOLID LINE MULTI COMP	Ų F	19725	\$0.27	\$5,325.75	\$0.25	\$4,931.25	\$0.24	\$4,734.00	\$0,202	\$3,984.45	\$0.24	\$4,734.0
18	2582.503 4" BROKEN LINE MULTI COMP	LF	400	\$0.27	\$108.00	\$0.25	\$100.00	\$0.24	\$96.00	\$0.202	\$80.80	\$0.24	\$96.0
	Totals for Project CP 001-070-001				\$199,888.00		\$228,870.43		\$238,588.04		\$236,830.99		\$288,004.6
	% of Estimate for Project CP 001-070-001						14.50%		19.36%		18.48%		44.08
		_										r	
	Project: CP 001-090-033 - Shouldering CSAH 3, 10, 4			Engineers Es	timate		others Construction Brainerd LLC- N	Knife River- Sauk Rapids,		Central Specia Alexandria, M		Duininck, Inc Prinsburg, M	
ine No.	ltem	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	2118.507 AGGREGATE SURFACING (LV), CLASS SPECIAL	CY	6527	\$27.00	\$176,229.00	\$28.50	\$186,019.50	\$27.90	\$182,103.30	\$34.35	\$224,202.45	\$38.00	\$248,026.0
2	2211.607 STOCKPILE AGGREGATE (SV), CLASS SPECIAL	CY	3750	\$8.00	\$30,000.00	\$8.65	\$32,437.50	\$10.00	\$37,500.00	\$13.25	\$49,687.50	\$11.00	\$41,250.0
3	2232.604 MILL BITUMINOUS PAVEMENT (FULL DEPTH)	S Y	1453	\$4.00	\$5,812.00	\$5.30	\$7,700.90	\$6.00	\$8,718.00	\$8.00	\$11,624.00	\$6.00	\$8,718.0
	Totals for Project CP 001-090-033				\$212,041.00		\$226,157.90	1	\$228,321.30	i	\$285,513.95		\$297,994.
	% of Estimate for Project CP 001-090-033				3246,042,00		5.66%		7.68%		34.65%		40.54

	Project: SAP 001-603-019 - Bit Mill/Overlay/Striping			Engineers Es	timate		others Construction Brainerd LLC- N	Knife River- Sauk Rapids,	MN	Central Specia Alexandria, M		Duininck, In Prinsburg, N		
Line No.	Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	2021.501	MOBILIZATION	LS	1	\$20,000.00	\$20,000.00	\$21,000.00	\$21,000.00	\$24,000.00	\$24,000.00	\$5,000.00	\$5,000.00	\$60,000.00	\$60,000.00
2	2051.501	MAINT & RESTORATION OF HAUL ROADS	LS	1	\$500.00	\$500.00	\$1,00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
3	2104.504	REMOVE BITUMINOUS PAVEMENT	SY.	747	\$3.00	\$2,241.00	\$9.00	\$6,723.00	\$7.00	\$5,229.00	\$11.00	\$8,217.00	\$16.30	\$12,176.10
4	2105.504	GEOTEXTILE FABRIC TYPE 5	5 Y	114	\$3.00	\$342.00	\$2.75	\$313.50	\$10,00	\$1,140.00	\$5,00	\$570.00	\$2.00	\$228.00
5	2105.507	COMMON EXCAVATION (P)	CY	331	\$10.00	\$3,310.00	\$19.00	\$6,289.00	\$22.50	\$7,447.50	\$20.00	\$6,620.00	\$18.00	
6	2105.603	SHOULDER EXCAVATION	LF	43240	\$0.40	\$17,296.00	\$0,11	\$4,756.40	\$0.50	\$21,620.00	\$0.40	\$17,296.00	\$0.20	\$8,648.00
7	2118,507	AGGREGATE SURFACING (LV), CLASS SPECIAL	CY	1070	\$25.00	\$26,750.00	\$32.00	\$34,240.00	\$25.00	\$26,750.00	\$40.50	\$43,335.00	\$24.25	
8	2211.507	AGGREGATE BASE (LV) CLASS 5	CY	393	\$20.00	\$7,860.00	\$24.00	\$9,432.00	\$35.00	\$13,755.00	\$32.00	\$12,576.00	\$30.00	\$11,790.00
9	2232.504	MILL BITUMINOUS SURFACE (1.5")	5 Y	1667	\$4.00	\$6,668.00	. \$3,30	\$5,501.10	\$3.50	\$5,834.50	\$1,50	\$2,500.50		
10	2232.504	MILL BITUMINOUS SURFACE (2.0")	S Y	67262	\$1.00	\$67,262.00	\$1.07	\$71,970.34	\$1.50	\$100,893.00	\$1.35	\$90,803.70		
11,	2357.506	BITUMINOUS MATERIAL FOR TACK COAT	GAL	9488	\$2.00	\$18,976.00	\$2.20	\$20,873.60	\$2.00	\$18,976.00	\$2,00	\$18,976.00		\$21,348.00
12	2360.509	TYPE SP 9.5 WEARING COURSE MIX (2,B)	TON	9951	\$45.00	\$447,795.00	\$52.00	\$517,452.00	\$51.00	\$507,501.00	\$58.90	\$586,113.90		\$495,062.25
13	2540.602	MAIL BOX SUPPORT	EACH	9	\$110.00	\$990.00	\$110.00	\$990.00	\$110.00	\$990.00	\$105.00	\$945.00		\$990.00
14	2563.601	TRAFFIC CONTROL	LS	1	\$5,000.00	\$5,000.00	\$1,900.00	\$1,900.00	\$6,000.00	\$6,000.00	\$1,800.00	\$1,800.00	\$1,800.00	\$1,800.00
15	2580.503	INTERIM PAVEMENT MARKING	LF	10512	\$0.25	\$2,628.00	\$0.17	\$1,787.04	\$0.50	\$5,256.00	\$0.16	\$1,681.92	\$0.16	
16	2582.503	4" SOLID LINE MULTI COMP	LF	44969	\$0.27	\$12,141.63	\$0.25	\$11,242.25	\$0.24	\$10,792.56	\$0.202	\$9.083.74	\$0.24	\$10,792.56
17	2582.503	4" BROKEN LINE MULTI COMP	LF	4370	\$0.27	\$1,179.90	\$0.25	\$1,092.50	\$0.24	\$1,048.80	\$0.202	\$882.74		
	Totals for	Project SAP 001-603-019				\$640.030.F3		4717 563 713						
						\$640,939.53		\$715,563.73		\$757,234.36		\$806,402.50		\$741,103.78
	70 UI ESUITI	ate for Project SAP 001-603-019						11.64%		18.14%		25.82%		15,63%
		AP 001-610-030 - Bituminous Mill/Overlay/Striping			Engineers Es	timate	Company of	others Construction Brainerd LLC-	Knife River- Sauk Rapids,		Central Specia Alexandria, M	alities Inc-	Duininck, Ind Prinsburg, M	c
-	Project: SA		Units	Quantity			Company of Brainerd, Mi	others Construction Brainerd LLC- N	Sauk Rapids,	MN	Alexandria, M	alities Inc- N	Prinsburg, N	c 1N
-	Project: SA	AP 001-610-030 - Bituminous Mill/Overlay/Striping		Quantity 1	Unit Price	Total Price	Company of Brainerd, MN Unit Price	others Construction Brainerd LLC- N Total Price	Sauk Rapids, Unit Price	MN Total Price	Alexand ria, M Unit Price	alities Inc- N Total Price	Prinsburg, N Unit Price	c 1N Total Price
-	Project: SA Item 2021.501	AP 001-610-030 - Bituminous Mill/Overlay/Striping	LS	Quantity 1	Unit Price \$10,000.00	Total Price \$10,000.00	Company of Brainerd, MM Unit Price \$16,500.00	others Construction Brainerd LLC- V Total Price \$16,500.00	Sauk Rapids, Unit Price \$19,000.00	MN Total Price \$19,000.00	Alexandria, M Unit Price \$5,000.00	alities Inc- N Total Price \$5,000.00	Prinsburg, M Unit Price \$55,000.00	c 1N Total Price \$55,000.00
-	Project: SA Item 2021.501 2051.501	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS	LS LS	1	Unit Price \$10,000.00 \$500.00	Total Price \$10,000.00 \$500.00	Company of Brainerd, MN Unit Price \$16,500.00 \$1.00	others Construction Brainerd LLC- V Total Price \$16,500.00 \$1.00	Sauk Rapids, Unit Price \$19,000.00 \$1.00	MN Total Price \$19,000.00 \$1.00	Alexandria, M Unit Price \$5,000.00 \$1.00	N Total Price \$5,000.00	Prinsburg, IV Unit Price \$55,000.00 \$1.00	C 1N Total Price \$55,000.00 \$1.00
-	Project: SA Item 2021.501 2051.501 2118.507	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL	LS LS C Y	1 1 921	Unit Price \$10,000.00 \$500.00 \$25.00	Total Price \$10,000.00 \$500.00 \$23,025.00	Company of Brainerd, MM Unit Price \$16,500.00 \$1.00 \$28.50	others Construction Brainerd LLC- V Total Price \$16,500,00 \$1,00 \$26,248.50	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00	MN Total Price \$19,000,00 \$1,00 \$25,788.00	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00	N Total Price \$5,000.00 \$1,00 \$40,524.00	Prinsburg, N Unit Price \$55,000.00 \$1.00 \$40.00	C 1N Total Price \$55,000.00 \$1.00 \$36,840.00
-	Project: SA Item 2021.501 2051.501 2118.507 2232.504	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5")	LS LS C Y S Y	1 1 921 1275	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00	Company of Brainerd, MP Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00 \$4.50	MN Total Price \$19,000,00 \$1,00 \$25,788.00 \$5,737.50	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00 \$1.40	Total Price \$5,000.00 \$1.00 \$40,524.00	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00	C 1N Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75
-	Project: SA Item 2021.501 2051.501 2118.507 2232.504 2232.504	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5") MILL BITUMINOUS SURFACE (2.0")	LS LS C Y S Y	1 1 921 1275 47504	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00 \$1.00	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00 \$47,504.00	Company of Brainerd, MN Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76 \$1.32	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00 \$62,705.28	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00 \$4.50 \$1.85	MN Total Price \$19,000,00 \$1,00 \$25,788,00 \$5,737.50 \$87,882.40	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00 \$1.40 \$1.20	Total Price \$5,000.00 \$1,00 \$40,524.00 \$1,785.00 \$57,004.80	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00 \$2.25 \$2.00	Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75 \$95,008.00
-	Project: SA Item 2021.501 2051.501 2118.507 2232.504 2232.504 2232.504	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5") MILL BITUMINOUS SURFACE (2.0") MILL BITUMINOUS SURFACE (3.0")	LS LS CY SY SY	1 921 1275 47504 5266	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00 \$1.00 \$2.00	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00 \$47,504.00 \$10,532.00	Company of Brainerd, MN Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76 \$1.32 \$3.50	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00 \$62,705.28 \$18,431.00	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00 \$4.50 \$1.85 \$3.00	MN Total Price \$19,000,00 \$1,00 \$25,788,00 \$5,737.50 \$87,882.40 \$15,798.00	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00 \$1.40 \$1.20 \$2.90	Total Price \$5,000.00 \$1,00 \$40,524.00 \$1,785.00 \$57,004.80 \$15,271.40	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00 \$2.25 \$2.00 \$4.75	Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75 \$95,008.00
-	Project: SA Item 2021.501 2051.501 2118.507 2232.504 2232.504 2232.504 2357.506	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5") MILL BITUMINOUS SURFACE (2.0") MILL BITUMINOUS SURFACE (3.0") BITUMINOUS MATERIAL FOR TACK COAT	LS LS CY SY SY SY GAL	1 921 1275 47504 5266 7252	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00 \$1.00 \$2.00	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00 \$47,504.00 \$10,532.00 \$14,504.00	Company of Brainerd, MN Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76 \$1.32 \$3.50 \$2.85	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00 \$62,705.28 \$18,431.00 \$20,668.20	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00 \$4.50 \$1.85 \$3.00 \$2.00	MN Total Price \$19,000.00 \$1,00 \$25,788.00 \$5,737.50 \$87,882.40 \$15,798.00 \$14,504.00	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00 \$1.40 \$1.20 \$2.90 \$2.00	Total Price \$5,000.00 \$1.00 \$40,524.00 \$1,785.00 \$57,004.80 \$15,271.40	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00 \$2.25 \$2.00 \$4.75	Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75 \$95,008.00 \$25,013.50 \$16,317.00
-	Project: SA Item 2021.501 2051.501 2118.507 2232.504 2232.504 2357.506 2360.509	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5") MILL BITUMINOUS SURFACE (2.0") MILL BITUMINOUS SURFACE (3.0") BITUMINOUS MATERIAL FOR TACK COAT TYPE SP 9.5 WEARING COURSE MIX (2,8)	LS LS C Y S Y S Y S Y GAL TON	1 921 1275 47504 5266 7252 5419	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00 \$1.00 \$2.00 \$45.00	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00 \$47,504.00 \$10,532.00 \$14,504.00 \$243,855.00	Company of Brainerd, MN Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76 \$1.32 \$3.50 \$2.85 \$55.75	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00 \$62,705.28 \$18,431.00 \$20,668.20 \$302,109.25	Sauk Rapids, Unit Price \$19,000:00 \$1.00 \$28.00 \$4.50 \$1.85 \$3.00 \$2.00 \$52.75	MN Total Price \$19,000.00 \$1,00 \$25,788.00 \$5,737.50 \$87,882.40 \$15,798.00 \$14,504.00 \$285,852.25	Alexandria, M Unit Price \$5,000.00 \$1.00 \$14.00 \$1.40 \$1.20 \$2.90 \$2.00 \$61.50	Total Price \$5,000.00 \$1,00 \$40,524.00 \$1,785.00 \$57,004.80 \$15,271.40 \$14,504.00 \$333,268.50	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00 \$2.25 \$2.00 \$4.75 \$2.25 \$68.55	Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75 \$95,008.00 \$25,013.50 \$16,317.00 \$371,472.45
- ine No. 1 2 3 4 5 6 7 8 9	Project: SA Item 2021.501 2051.501 2118.507 2232.504 2232.504 2357.506 2360.509 2540.602	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5") MILL BITUMINOUS SURFACE (2.0") MILL BITUMINOUS SURFACE (3.0") BITUMINOUS MATERIAL FOR TACK COAT TYPE SP 9.5 WEARING COURSE MIX (2,B) MAIL BOX SUPPORT	LS LS C Y S Y S Y GAL TON EACH	1 921 1275 47504 5266 7252	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00 \$1.00 \$2.00 \$45.00 \$110.00	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00 \$47,504.00 \$10,532.00 \$14,504.00 \$243,855.00 \$1,100.00	Company of Brainerd, MN Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76 \$1.32 \$3.50 \$2.85 \$55.75 \$110.00	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00 \$62,705.28 \$18,431.00 \$20,668.20 \$302,109.25 \$1,100.00	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00 \$4.50 \$1.85 \$3.00 \$2.00 \$52.75 \$110.00	MN Total Price \$19,000.00 \$1,00 \$25,788.00 \$5,737.50 \$87,882.40 \$15,798.00 \$14,504.00 \$285.852.25 \$1,100.00	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00 \$1.40 \$1.20 \$2.90 \$2.00 \$61.50	Total Price \$5,000.00 \$1,00 \$40,524.00 \$1,785.00 \$57,004.80 \$15,271.40 \$14,504.00 \$333,268.50 \$1,050.00	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00 \$2.25 \$2.00 \$4.75 \$2.25 \$68.55 \$110.00	Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75 \$95,008.00 \$25,013.50 \$16,317.00 \$371,472.45 \$1,100.00
ine No. 1 2 3 4 5 6 7 8 9 10	Project: SA Item 2021.501 2051.501 2118.507 2232.504 2232.504 2357.506 2360.509 2540.602 2540.602	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5") MILL BITUMINOUS SURFACE (2.0") MILL BITUMINOUS SURFACE (3.0") BITUMINOUS MATERIAL FOR TACK COAT TYPE SP 9.5 WEARING COURSE MIX (2,B) MAIL BOX SUPPORT RELOCATE MAIL BOX SUPPORT	LS C Y S Y S Y GAL TON EACH	1 921 1275 47504 5266 7252 5419	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00 \$1.00 \$2.00 \$45.00 \$110.00	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00 \$47,504.00 \$10,532.00 \$14,504.00 \$243,855.00 \$1,100.00 \$770.00	Company of Brainerd, MN Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76 \$1.32 \$3.50 \$2.85 \$55.75 \$110.00 \$42.00	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00 \$62,705.28 \$18,431.00 \$20,668.20 \$302,109.25 \$1,100.00 \$294.00	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00 \$4.50 \$1.85 \$3.00 \$2.00 \$52.75 \$110.00 \$75.00	MN Total Price \$19,000.00 \$1,00 \$25,788.00 \$5,737.50 \$87,882.40 \$15,798.00 \$14,504.00 \$285.852.25 \$1,100.00 \$525.00	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00 \$1.20 \$2.90 \$2.00 \$61.50 \$105.00	Total Price \$5,000.00 \$1,00 \$40,524.00 \$1,785.00 \$57,004.80 \$15,271.40 \$14,504.00 \$333,268.50 \$1,050.00 \$280.00	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00 \$2.25 \$2.00 \$4.75 \$2.25 \$68.55 \$110.00	Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75 \$95,008.00 \$25,013.50 \$16,317.00 \$371,472.45 \$1,100.00 \$525.00
3 4 5 6 7 8 9 10 11	Project: SA Item 2021.501 2051.501 2118.507 2232.504 2232.504 2357.506 2360.509 2540.602 2540.602 2563.601	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5") MILL BITUMINOUS SURFACE (2.0") MILL BITUMINOUS SURFACE (3.0") BITUMINOUS MATERIAL FOR TACK COAT TYPE SP 9.5 WEARING COURSE MIX (2,B) MAIL BOX SUPPORT RELOCATE MAIL BOX SUPPORT TRAFFIC CONTROL	LS C Y S Y S Y GAL TON EACH EACH LS	1 921 1275 47504 5266 7252 5419 10 7	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00 \$1.00 \$2.00 \$45.00 \$110.00 \$110.00 \$5,000.00	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00 \$47,504.00 \$10,532.00 \$14,504.00 \$243,855.00 \$1,100.00 \$770.00 \$5,000.00	Company of Brainerd, MN Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76 \$1.32 \$3.50 \$2.85 \$55.75 \$110.00 \$42.00 \$3,750.00	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00 \$62,705.28 \$18,431.00 \$20,668.20 \$302,109.25 \$1,100.00 \$294.00 \$3,750.00	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00 \$4.50 \$1.85 \$3.00 \$2.00 \$52.75 \$110.00 \$75.00 \$4,000.00	MN Total Price \$19,000.00 \$1,00 \$25,788.00 \$5,737.50 \$87,882.40 \$15,798.00 \$14,504.00 \$285.852.25 \$1,100.00 \$525.00 \$4,000.00	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00 \$1.40 \$1.20 \$2.90 \$2.00 \$61.50 \$105.00 \$40.00	Total Price \$5,000.00 \$1,00 \$40,524.00 \$1,785.00 \$57,004.80 \$15,271.40 \$14,504.00 \$333,268.50 \$1,050.00 \$280.00 \$1,800.00	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00 \$2.25 \$2.00 \$4.75 \$2.25 \$68.55 \$110.00 \$75.00 \$1,800.00	Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75 \$95,008.00 \$25,013.50 \$16,317.00 \$371,472.45 \$1,100.00 \$525.00 \$1,800.00
3 4 5 6 7 8 9 10 11	Project: SA Item 2021.501 2051.501 2118.507 2232.504 2232.504 2327.506 2360.509 2540.602 2540.602 2563.601 2580.503	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5") MILL BITUMINOUS SURFACE (2.0") MILL BITUMINOUS SURFACE (3.0") BITUMINOUS MATERIAL FOR TACK COAT TYPE SP 9.5 WEARING COURSE MIX (2,8) MAIL BOX SUPPORT RELOCATE MAIL BOX SUPPORT TRAFFIC CONTROL INTERIM PAVEMENT MARKING	LS LS C Y S Y S Y GAL TON EACH LS L F	1 1 921 1275 47504 5266 7252 5419 10 7 1	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00 \$1.00 \$2.00 \$45.00 \$110.00 \$110.00 \$5,000.00	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00 \$47,504.00 \$10,532.00 \$14,504.00 \$243,855.00 \$1,100.00 \$770.00 \$5,000.00 \$3,386.25	Company of Brainerd, MN Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76 \$1.32 \$3.50 \$2.85 \$55.75 \$110.00 \$42.00 \$3,750.00 \$0.17	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00 \$62,705.28 \$18,431.00 \$20,668.20 \$302,109.25 \$1,100.00 \$294.00 \$3,750.00 \$2,302.65	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00 \$4.50 \$1.85 \$3.00 \$2.00 \$52.75 \$110.00 \$75.00 \$4,000.00 \$0.50	MN Total Price \$19,000.00 \$1.00 \$25,788.00 \$5,737.50 \$87,882.40 \$15,798.00 \$14,504.00 \$285,852.25 \$1,100.00 \$525.00 \$4,000.00 \$6,772.50	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00 \$1.40 \$1.20 \$2.90 \$61.50 \$105.00 \$40.00 \$0.16	Total Price \$5,000.00 \$1,00 \$40,524.00 \$1,785.00 \$57,004.80 \$15,271.40 \$14,504.00 \$333,268.50 \$1,050.00 \$280.00 \$1,800.00 \$2,167.20	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00 \$2.25 \$2.20 \$4.75 \$2.25 \$68.55 \$110.00 \$75.00 \$1,800.00	Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75 \$95,008.00 \$25,013.50 \$16,317.00 \$371,472.45 \$1,100.00 \$525.00 \$1,800.00 \$2,167.20
ine No. 1 2 3 4 5 6 7 8 9 10 11 12 13	Project: SA Item 2021.501 2051.501 2118.507 2232.504 2232.504 2327.506 2360.509 2540.602 2540.602 2540.602 2563.601 2580.503 2582.503	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5") MILL BITUMINOUS SURFACE (2.0") MILL BITUMINOUS SURFACE (3.0") BITUMINOUS MATERIAL FOR TACK COAT TYPE SP 9.5 WEARING COURSE MIX (2,8) MAIL BOX SUPPORT RELOCATE MAIL BOX SUPPORT TRAFFIC CONTROL INTERIM PAVEMENT MARKING 4" SOLID LINE MULTI COMP	LS LS C Y S Y S Y GAL TON EACH EACH LS L F	1 921 1275 47504 5266 7252 5419 10 7 1 13545 27113	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00 \$1.00 \$2.00 \$45.00 \$110.00 \$1,000 \$1,000 \$0.25	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00 \$47,504.00 \$10,532.00 \$14,504.00 \$243,855.00 \$1,100.00 \$770.00 \$5,000.00 \$3,386.25 \$7,320.51	Company of Brainerd, MP Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76 \$1.32 \$3.50 \$2.85 \$55.75 \$110.00 \$42.00 \$3,750.00 \$0.17 \$0.25	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00 \$62,705.28 \$18,431.00 \$20,668.20 \$302,109.25 \$1,100.00 \$294.00 \$3,750.00 \$2,302.65	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00 \$4.50 \$1.85 \$3.00 \$2.00 \$52.75 \$110.00 \$75.00 \$4,000.00 \$0.50 \$0.24	MN Total Price \$19,000.00 \$1,00 \$25,788.00 \$5,737.50 \$87,882.40 \$15,798.00 \$14,504.00 \$285.852.25 \$1,100.00 \$525.00 \$4,000.00 \$6,772.50 \$6,507.12	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00 \$1.40 \$1.20 \$2.90 \$61.50 \$105.00 \$40.00 \$0.16 \$0.202	Total Price \$5,000.00 \$1,00 \$40,524.00 \$1,785.00 \$57,004.80 \$15,271.40 \$14,504.00 \$333,268.50 \$1,050.00 \$280.00 \$1,800.00 \$2,167.20 \$5,476.83	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00 \$2.25 \$2.20 \$4.75 \$2.25 \$68.55 \$110.00 \$75.00 \$1,800.00 \$0.16 \$0.24	Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75 \$95,008.00 \$25,013.50 \$16,317.00 \$371,472.45 \$1,100.00 \$525.00 \$1,800.00 \$2,167.20 \$6,507.12
ine No. 1 2 3 4 5 6 7 8 9 10 11 12 13	Project: SA Item 2021.501 2051.501 2118.507 2232.504 2232.504 2327.506 2360.509 2540.602 2540.602 2540.602 2563.601 2580.503 2582.503	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5") MILL BITUMINOUS SURFACE (2.0") MILL BITUMINOUS SURFACE (3.0") BITUMINOUS MATERIAL FOR TACK COAT TYPE SP 9.5 WEARING COURSE MIX (2,8) MAIL BOX SUPPORT RELOCATE MAIL BOX SUPPORT TRAFFIC CONTROL INTERIM PAVEMENT MARKING	LS LS C Y S Y S Y GAL TON EACH LS L F	1 1 921 1275 47504 5266 7252 5419 10 7 1	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00 \$1.00 \$2.00 \$45.00 \$110.00 \$110.00 \$5,000.00	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00 \$47,504.00 \$10,532.00 \$14,504.00 \$243,855.00 \$1,100.00 \$770.00 \$5,000.00 \$3,386.25	Company of Brainerd, MN Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76 \$1.32 \$3.50 \$2.85 \$55.75 \$110.00 \$42.00 \$3,750.00 \$0.17	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00 \$62,705.28 \$18,431.00 \$20,668.20 \$302,109.25 \$1,100.00 \$294.00 \$3,750.00 \$2,302.65	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00 \$4.50 \$1.85 \$3.00 \$2.00 \$52.75 \$110.00 \$75.00 \$4,000.00 \$0.50	MN Total Price \$19,000.00 \$1.00 \$25,788.00 \$5,737.50 \$87,882.40 \$15,798.00 \$14,504.00 \$285,852.25 \$1,100.00 \$525.00 \$4,000.00 \$6,772.50	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00 \$1.40 \$1.20 \$2.90 \$61.50 \$105.00 \$40.00 \$0.16	Total Price \$5,000.00 \$1,00 \$40,524.00 \$1,785.00 \$57,004.80 \$15,271.40 \$14,504.00 \$333,268.50 \$1,050.00 \$280.00 \$1,800.00 \$2,167.20	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00 \$2.25 \$2.20 \$4.75 \$2.25 \$68.55 \$110.00 \$75.00 \$1,800.00 \$0.16	Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75 \$95,008.00 \$25,013.50 \$16,317.00 \$371,472.45 \$1,100.00 \$525.00 \$1,800.00 \$2,167.20
ine No. 1 2 3 4 5 6 7 8 9 10 11 12 13 14	Project: SA Item 2021.501 2051.501 2118.507 2232.504 2232.504 2357.506 2360.509 2540.602 2540.602 2563.601 2580.503 2582.503 2582.503	MOBILIZATION MAINT & RESTORATION OF HAUL ROADS AGGREGATE SURFACING (LV), CLASS SPECIAL MILL BITUMINOUS SURFACE (1.5") MILL BITUMINOUS SURFACE (2.0") MILL BITUMINOUS SURFACE (3.0") BITUMINOUS MATERIAL FOR TACK COAT TYPE SP 9.5 WEARING COURSE MIX (2,8) MAIL BOX SUPPORT RELOCATE MAIL BOX SUPPORT TRAFFIC CONTROL INTERIM PAVEMENT MARKING 4" SOLID LINE MULTI COMP	LS LS C Y S Y S Y GAL TON EACH EACH LS L F	1 921 1275 47504 5266 7252 5419 10 7 1 13545 27113	Unit Price \$10,000.00 \$500.00 \$25.00 \$4.00 \$1.00 \$2.00 \$45.00 \$110.00 \$1,000 \$1,000 \$0.25	Total Price \$10,000.00 \$500.00 \$23,025.00 \$5,100.00 \$47,504.00 \$10,532.00 \$14,504.00 \$243,855.00 \$1,100.00 \$770.00 \$5,000.00 \$3,386.25 \$7,320.51	Company of Brainerd, MP Unit Price \$16,500.00 \$1.00 \$28.50 \$3.76 \$1.32 \$3.50 \$2.85 \$55.75 \$110.00 \$42.00 \$3,750.00 \$0.17 \$0.25	others Construction Brainerd LLC- N Total Price \$16,500.00 \$1.00 \$26,248.50 \$4,794.00 \$62,705.28 \$18,431.00 \$20,668.20 \$302,109.25 \$1,100.00 \$294.00 \$3,750.00 \$2,302.65	Sauk Rapids, Unit Price \$19,000.00 \$1.00 \$28.00 \$4.50 \$1.85 \$3.00 \$2.00 \$52.75 \$110.00 \$75.00 \$4,000.00 \$0.50 \$0.24	MN Total Price \$19,000.00 \$1,00 \$25,788.00 \$5,737.50 \$87,882.40 \$15,798.00 \$14,504.00 \$285.852.25 \$1,100.00 \$525.00 \$4,000.00 \$6,772.50 \$6,507.12	Alexandria, M Unit Price \$5,000.00 \$1.00 \$44.00 \$1.40 \$1.20 \$2.90 \$61.50 \$105.00 \$40.00 \$0.16 \$0.202	Total Price \$5,000.00 \$1,00 \$40,524.00 \$1,785.00 \$57,004.80 \$15,271.40 \$14,504.00 \$333,268.50 \$1,050.00 \$280.00 \$1,800.00 \$2,167.20 \$5,476.83	Prinsburg, M Unit Price \$55,000.00 \$1.00 \$40.00 \$2.25 \$2.20 \$4.75 \$2.25 \$68.55 \$110.00 \$75.00 \$1,800.00 \$0.16	Total Price \$55,000.00 \$1.00 \$36,840.00 \$2,868.75 \$95,008.00 \$25,013.50 \$16,317.00 \$371,472.45 \$1,100.00 \$525.00 \$1,800.00 \$2,167.20 \$6,507.12

9.1

	Project: SAP 001-616-007 - SAP 001-616-007 Bituminous Mill & Overlay			Engineers Estimate		Anderson Brothers Construction Company of Brainerd LLC- Brainerd, MN		Knife River- Sauk Rapids, MN		Central Specialities Inc- Alexandria, MN		Duininck, In Prinsburg, N	
ine No.	Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	2021.501 MOBILIZATION	LS	1	\$40,000.00	\$40,000.00	\$21,000.00	\$21,000.00	\$42,000.00	\$42,000.00	\$134,000.00	\$134,000.00	\$60,000.00	\$60,000.00
2	2 2051.501 MAINT & RESTORATION OF HAUL ROADS	LS	1	\$1,000,00	\$1,000.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1,00	\$1,00
3	2104.504 REMOVE BITUMINOUS PAVEMENT	SY	3469	\$3.00	\$10,407.00	\$3.50	\$12,141.50	\$6.80	\$23,589.20	\$8.00	\$27,752.00	\$14.00	\$48,566.00
4	2105.504 GEOTEXTILE FABRIC TYPE 5	S Y	675	\$3.00	\$2,025.00	\$2.75	\$1,856.25	\$3.50	\$2,362.50	\$3.00	\$2,025.00	\$2.00	\$1,350.00
5	2105.603 SHOULDER EXCAVATION	1F	91250	\$0.40	\$36,500.00	\$0.10	\$9,125.00	\$0.50	\$45,625.00	\$0.40	\$36,500.00	\$0.20	\$18,250.00
6	2118.507 AGGREGATE SURFACING (LV), CLASS SPECIAL	CY	1675	\$25.00	\$41,875.00	\$28.75	\$48,156.25	\$25.40	\$42,545.00	\$40.00	\$67,000.00	\$34.25	\$57,368.75
7	2 2211.507 AGGREGATE BASE (LV) CLASS 5	CY	613	\$20.00	\$12,260.00	\$26,50	\$16,244.50	\$35.00	\$21,455.00	\$31.00	\$19,003.00	\$41.30	\$25,316.90
8	2232 504 MILL BITUMINOUS SURFACE (2.0")	SY	149637	\$1.00	\$149,637.00	\$0.90	\$134,673.30	\$1.50	\$224,455.50	\$1.50	\$224,455.50	\$2.10	\$314,237.70
9	2357.506 BITUMINOUS MATERIAL FOR TACK COAT	GAL	20148	\$2.00	\$40,296.00	\$2.20	\$44,325.60	\$2.00	\$40,296.00	\$2.00	\$40,296.00	\$2.25	\$45,333.00
10	2360.509 TYPE SP 9.5 WEARING COURSE MIX (2,B)	TON	18982	\$45.00	\$854,190.00	\$49.50	\$939,609.00	\$50.00	\$949,100.00	\$60,00	\$1,138,920.00	\$59.65	\$1,132,276.30
11	2540.602 MAIL BOX SUPPORT	EACH	25	\$120.00	\$3,000.00	\$110.00	\$2,750.00	\$110.00	\$2,750.00	\$105.00	\$2,625.00	\$110.00	\$2,750.00
12	2563.601 TRAFFIC CONTROL	LS	1	\$8,000.00	\$8,000.00	\$1,900.00	\$1,900.00	\$8,000.00	\$8,000.00	\$1,800.00	\$1,800.00	\$1,800.00	·
13	2574.507 COMMON TOPSOIL BORROW	CY	166	\$25.00	\$4,150.00	\$25.00	\$4,150.00	\$60.00	\$9,960.00	\$50.00	\$8,300.00	\$55.00	\$9,130.00
14	2575.501 TURF ESTABLISHMENT	LS	1	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$2,800.00	\$2,800.00	\$3,200.00	\$3,200.00	\$4,200.00	\$4,200.00
15	2580.503 INTERIM PAVEMENT MARKING	LF	72270	\$0.25	\$18,067.50	\$0.17	\$12,285.90	\$0.50	\$36,135.00	\$0.16	\$11,563.20	\$0.16	\$11,563.20
16	2582.503 4" SOLID LINE MULTI COMP	LF	114406	\$0.27	\$30,889.62	\$0.25	\$28,601.50	\$0.24	\$27,457.44	\$0.202	\$23,110.01	\$0.24	\$27,457,44
17	2582.503 4" BROKEN LINE MULTI COMP	L F	8980	\$0.27	\$2,424.60	\$0.25	\$2,245.00	\$0.24	\$2,155.20	\$0.202	\$1,813.96	\$0.24	\$2,155.20
	Totals for Project SAP 001-616-007	_			£1 257 721 72		64 202 064 20						
_	% of Estimate for Project SAP 001-616-007				\$1,257,721.72		\$1,283,064.80		\$1,480,686.84		\$1,742,364.67		\$1,761,755.49
	78 OF Estimate for Project SAF 001-010-007						2.01%		17.73%		38.53%		40.08%
	Totals for Contract 20194				\$2,683,781.01		\$2,919,888.99		\$3,178,826,31		\$3,549,689.24	1	\$3,704,005.98
	% of Estimate for Contract 20194						8.80%		18.45%	-	32.26%		38.01%

I hereby certify that this is an exact reproduction of bids received.

Certified By:

License No. 24346

Date: 6